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St. Peter is a rapidly growing district in the periphery of a capital city. 

Nowadays, more than 10,000 people live in the three largest housing 

settlements and yet the area is inadequately connected to public 

transport, thus the car density is very high. 

 

Therefore, the city government is planning to build a tram line which 

would connect the district within 15 minutes to the city centre. 

Many residents are in favour of the project, but there is also fierce 

opposition. Parking lots will be lost along the planned route. In 

addition, the route touches a nature reserve for about 200 meters. 

The construction work will require the cutting down of about 30 

trees, mostly willows, ash trees and hornbeams. Now a referendum 

is to be held to decide on the construction of the tram line. 
 

 

How would you decide? 

 
Does the benefit of reducing car traffic outweigh the disadvantages? 
How great is the damage caused by cutting down the trees? Are 
there compensatory measures, e.g. reforestation, that can offset the 
negative impact or even improve the ecological situation? Who are 
the winners or losers in the case of tram construction? 

How did you come to your decision? 
Describe your decision-making process. 
What sources did you use as basis for your consideration? 
How did you weigh the arguments for and against the tram? 

 
 
 
 
 

   Quarterly Problem 
    - Green Edition - 

Tram to St. Peter 

 

Brainstorm-Box 
What are the environmental 
effects of trees? Are there 
species that are better 
adapted to an urban climate? 
What time does it take a tree 
to grow until it has effects on 
the local climate? 
What are the ecological 
effects of reducing car traffic 
by 25%? 


